
SAP ABAP table WDR_TEST_SFLIGHT_RANGE {Test}

WDR_TEST_SFLIGHT_RANGE

MANDT [CLNT (3)]

CARRID [CHAR (3)]

CONNID [NUMC (4)]

CURRENCY [CUKY (5)]

PLANETYPE [CHAR (10)]

SAPLANE

MANDT [CLNT (3)]

PLANETYPE [CHAR (10)]

 WDR_TEST_SFLIGHT_RANGE-PLANETYPE = SAPLANE-PLANETYPE 
0..N

1

SCARR

MANDT [CLNT (3)]

CARRID [CHAR (3)]
 WDR_TEST_SFLIGHT_RANGE-CARRID = SCARR-CARRID 0..N

0..N SCURX

CURRKEY [CUKY (5)]

 WDR_TEST_SFLIGHT_RANGE-CURRENCY = SCURX-CURRKEY 
1..N1

SPFLI

MANDT [CLNT (3)]

CARRID [CHAR (3)]

CONNID [NUMC (4)]

 WDR_TEST_SFLIGHT_RANGE-CONNID = SPFLI-CONNID 

0..N

1

T000

MANDT [CLNT (3)]

 WDR_TEST_SFLIGHT_RANGE-MANDT = T000-MANDT 

0..N

1


